Distance, Midpoint, and Paritioning a Segment November 14, 2017

Find the length of the missing side
of the triangle:
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THE DISTANCE FORMULA

Given two points, A(x,, y,) and B(x,, y,), the
distance between them can be found using
the formula:
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If A(2, 3) and B(7, 15), find AB
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If A(-9, -2) and B(x, 5), find x if AB=7
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How can we find the point that divides a segment
in half?
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Find the coordinate of the point that is /5
of the way from A to B
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Find the coordinate of the point that is /%
of the way from A to B
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THE MIDPOINT FORMULA

Given two points, A(x,, y,) and B(x,, y,), the
MIDPOINT of AB can be found using the formula:

M:/x1+x2 y, +y,
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Find the coordinates of the midpoint of AB
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If the midpoint of AB falls at (7, 9), and point A is
located at (-2, 4), then find the coordinates of B
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What if we want to partition the segment into
thirds, or fourths, etc?
(ie, some ratio other than one-half)

X, +r(x,—x,)

where r represents the desired ratio

Find the coordinate of the point that is 14
of the way from A to B
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Find the coordinate of the point that is 34
of the way from A to B

A \ o B
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Find the coordinate of the point that is %
of the way from A to B
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What if the segment is in the coordinate plane?
(x1 +r(x,—x,), v, +r(y, —yl))

Find the coordinates of the point that is %

of the way from
10: X:S
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Point P lies on AB, and the ratio of AP to PB
is 3to 2. If A(3, 4) and B(6, 10), then find the
coordinates of P.
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Point P lies on AB, and the ratio of AP to PB
is4tol. IfA(1, 3) and B(8, 4), then find the
coordinates of P.
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Point P lies on ,@, and the ratio of AP to PB
is3to7. IfA(-2, 1) and B(4, 9), then find the
coordinates of P.
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Point P(3, -12) lies on AB, and the ratio of AP to PB
islto4. If Aisat (8, 16), then find the coordinates

of B. 9 (2) ‘\Z’_)
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Point P(-8, 13) lies on AB, and the ratio of AP to PB
is2to 7. If Bisat (11, -24), then find the
coordinates of A.
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